a)

" N.B:

[Time : 2% Hours]
All questions are compulsory.
Figures to the right indicate full marks all
Working Notes should form the Part of
Calculate-Figures upto two decimal

ol o R

Select the most appropriate option and rewri
1. Normal loss in process is

e Controllable
® Ascertainable

2. Under Marginal Costing, cost is: '

e Function
e Elements

Qs:t‘df Goods sold out
‘None of the above

“None of the above

Material handling
® Inspection

® Cost of unfinished work
® None of the above

® Méthod of allocation

e -nfque of costing e All of the above
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b)  State whether the following statements are True or F
1. Work certified is valued in terms of contract pri
Abnormal loss is. controllable.
Cost variance is favourable when actual cos t
Sales value of Joint Product is insignificai
Contract costing is a form of process. :
The role of contribution is negligibl
Activity Based Costing can only ;
Stores ledger relates to receip
Cost of sales account show ot
Marginal costing is a tech
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construction work commenced oi
year ended 31 March, 201
—

Contract Price

Work Certified
Cash Received.’
Materials issued to site

-3,50,00,000
2,00,00,000
1,50,00,000
75,00,000
10,00,000
40,00,000
2,50,000
17,50,000
5,00,000
4,78,000
1,00,000
1,00,000
3,75,000
9,02,000
1,49,000
4% on work certified

ch originally cost T 20,00,000 has been continuously in
the year. The Residual value of the plant after § years of
§h§. Straights line method of depreciation is in use.

‘Mare ?291'7, the direct wages due and payable amounted to
aterials at site were estimated at ¥ 2,00,000.

ed to prepare : |

tract Aé%ount for the year ended 31st March, 2017.
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b)  Show the calculation of profit to be taken to the Pt

year.
c) Show the relevant items in Balance Sheet.

following position.

Particulars

Contract Price

Raw Materials issued

Wages paid

General Expenses

Plant Installed

Materials in hand at end of:the

Wages outstanding at en

7,200

Work finished but no

8,400

Cash Received (75%c

1,08,000

The\PIant was in

8EEBC26367FABAFD9EOE3835798COD11

ch:contract and depreciation
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Process |, Il and lIl.

Particulars

Basic Raw Materials introduced (Units)

Cost of Basic Raw Material per unit (%)

Wages (%)

Factory Overheads (%)

8EEBC26367FABAFD9YEOE3835798C0D 11

15
" Process
I 1
4,000 23,200 22,250
50,000 | 2,70,000 3,50,000
-1,20,000 | 1,89,000 2,10,000
1,18,000 | 1,87,080 1,73,120
2% 4% 4%
\ 200 300 500 :
aEcounts, Normal loss account, Abnormal Gain
TURN OVER
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4. The following balances are extracted from a company’s ledger as 13 Aprll, 2016 " 15
Particulars Debit () - Credit (%) VL TS
Stores ledger control account 5000047 207 4 s '
WIP control account ‘ 12,000 |

Finished stock control account
Cost control account

>SBL0005 S 5L,
O @000 S

Transaction for the year 2016-17:
Factory overheads allocated to WI
Finished goods at cost
Raw materials purchased :
Direct wages allocated to WIP
Raw materials issued to productlo
Cost of goods sold
You are required to prepare :

1) _ Cost ledger control account.
2)  Finished stock controllaccount\__ VoA

3)  WIP control account
4)  Stores ledger contro :
5)  Costof sales account

4. (a) Following j_\rj_for;r\ha,tlo resp S ;t;ofA Ltd And B Ltd. 8

A Ltd ( %) B Ltd. (%)
Sales: 4 22,00,000 28,00,000
Va nable Cost 17,60,000 21,00,000
Proflt 2,40,000 4,00,000
i Calculate

Y PV Ratno of both compames

2) }F'" d Cost of both compames :
3) - Break Ever
4) Sales tov

PoOi nt‘ of both companies
n p’ 'f't of pe 4 20 000 by each company

L (;Rate Varlance and Labou Eff lency Variance.
v, tStandard for 8 Unlts of Pro “duct ’X' :
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5. (3a) What are the édvantages of Marginal Costing?
(b) Explain elements of Target Costing.
OR
5. Write short notes on any three of the following:
a) Life Cycle Costing
b)  Types of Benchmarkings
) Profiton Incomplete Contract
d)  Labour Variance
)  By-Product
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